	Question 41 
	
	

	 
	In the backtracking algorithm, if it is determined that a partial solution would end in a dead end, then the algorithm ____. 
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  Question 42 
	
	

	 
	void decToBin(int num, int base)
{
      if(num > 0)
      {
            decToBin(num/base, base);
            cout<<num % base;
      }
}


Given the recursive function above, what is the result of decToBin(39, 2)? 
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  Question 43 
	
	

	 
	int func1(int m, int n) {
      if (m==n || n==1)
            return 1;
      else
            return func1(m-1,n-1) + n*func1(m-1,n);
}


Which of the following function calls would result in the value 1 being returned? 
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  Question 44 
	
	

	 
	int func2(int m, int n) {
      if (n == 0)
            return 0;
      else
            return m + func2(m, n-1);
}


What is the output of func2(2, 3)? 
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  Question 45 
	
	

	 
	int func2(int m, int n) {
      if (n == 0)
            return 0;
      else
            return m + func2(m, n-1);
}


Which of the following statements about the code above is always true? 
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  Question 46 
	
	

	 
	int func1(int m, int n) {
      if (m==n || n==1)
            return 1;
      else
            return func1(m-1,n-1) + n*func1(m-1,n);
}


How many base cases are in the function above? 
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  Question 47 
	
	

	 
	int func3(int m, int n) {
      if (m < n)
            return 0;
      else
            return 1 + func3(m-n, n);
}


What is the value of func3(9, 7), based on the code above? 
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  Question 48 
	
	

	 
	int rFibNum(int a,int b,int n)
{
      if(n==1)
         return a;
      else if(n==2)
         return b;
      else
         return rFibNum(a,b,n-1) + rFibNum(a,b,n-2);
}


What is the limiting condition of the code above? 
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  Question 49 
	
	

	 
	int exampleRecursion (int n) 
{ 
      if (n==0) 
            return 0; 
      else 
            return exampleRecursion(n-1) + n*n*n; 
}


What does the code above do? 
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  Question 50 
	
	

	 
	int exampleRecursion (int n) 
{ 
      if (n==0) 
            return 0; 
      else 
            return exampleRecursion(n-1) + n*n*n; 
}


What is the output of exampleRecursion(3) ? 
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